Guidelines for Testing a Series for Convergence or Divergence

1. Does the nth term approach 07 If not, the series diverges.

2. Is the series one of the special types—geometric, p-series, telescoping, or
alternating?

3. Can the Integral Test, the Root Test, or the Ratio Test be applied?
4. Can the series be compared favorably to one of the special types?

Sample Problem #3: APPLYING THE STRATEGIES FOR TESTING SERIES

Determine the convergence or divergence of the series:
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Summary of Tests for Series

Test Series Condition(s) Condition(s) Comment
of Convergence of Divergence
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Summary of Tests for Series
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